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STATS COUNT : 1
STARTUP  =ALIGNMENT/START,RECALL:USE_PART_SETUP, LIST=YES
ALIGNMENT/END
'MODE/MANUAL
PREHIT/S
RETRACT/S
MOVESPEED/ 80
FORMAT/TEXT, OPTIONS, ,HEADINGS, SYMBOLS, ;NOM, TOL,MEAS, DEV, OUTTOL,
LOADPROBE/389-1
TIP/T1AS0BS0, SHANKIJK=-1, 0, 0, ANGLE=90
c1R1 =FEAT/CONTACT/CIRCLE/DEFAULT, CARTESIAN, TN, LEAST_SQR
THEO/<415.341,-0.521,-796.302>,<-0. 9988609, ~0. 0472659, ~0.0065498>, 12. 695
ACTL/<415.341,-0.921,-796.302>, <-0.9988609, -0. 0472659, ~0.0065498>, 12. 695
TARG/<415.341,-0.521,-796.302>,<-0. 9988608, ~0. 0472659, ~0. 0065498>
START ANG=0,END ANG=360
ANGLE VEC=<1,0,0>
DIRECTION=CCH
SHOW FEATURE PARAMETERS=YES

Auto Feature [CIR2]
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